Chapter-16
probability Distribution

MTP October, ‘19
Find the probability that at least 5 defective bolts will be found in a box of 200 bolts. If it is known that
2% of such bolts are expected to be defective (Given: e™=0.0183)

(a) 0.4717 (b) 0.3717 {cy 03017 (d) None of these

If the two quartiles of a normal distribution are 47.30 and 52.70 respectively, find the mean deviation
about median of thisdistribution.

(a) 3.80 (b) 3.40 (c) 3.20 (d) 4.20
MTP March, ‘20

X follows normal distribution with mean as 50 and variance as 100. What is
P(x >60)? [Given ¢(1) =0.8413 ]

(a) 0.20 (b) 0.40 (c) 0.16 (d) 0.30

Number of misprints per page of a thick book follows '

(a) Normal distribution : (b) Poisson distribution

(c) Binomial distribution (d) Standard normal distribution
If for a Poisson variable X, f(2) = 3 f(4), what is the variance of X?

{a)- 2 (b) 4 lch o (d) 3

If the points of inflexion of a normal curve are 40 and 60 respectively, then its mean deviation is
_ [MTP April ‘19, March ‘19]
(a) 8 (b) 10 (c) 12 (d) 15
MTP October, ‘19

If x & y are two independent variables such that x™ B("l'P) andy~ B(nZ,P)then the parameter of Z =

E 7.
X+y is
@) (n#n), P Al
© (n1+n2), p ; (d) None of these
L 8 Five coins tossed 3200 times. The number of times 5 heads appeared is
(a) 500 (b) 1200 (c) 200 (d) 100
: . (x*-6x+9)
B the normal distribision density function flx) = ke T, the Meen and variance are
@) (2.3) (b) (3,2) (c) (4,3) (d) (3,4)
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' viation is
s 16. The Quartile De " 4d) sof

The mean deviation of normal distribution i

10. (c) 10073
1 w -00 < X <®©
e . e ’
11 The Quartile Deviation of the normal distribution f(x) J18n 18
' (d) %
(a) 3 (b) 43 (c:) - 1" mean and SD's are (10, 5) and (15, 12)
12 If x and y are two independent normal random distributions Wi
these mean and SD of (x+y) is (d) (12,25)
(a) (27,15) (b) (10,27) (c) (2513)
MTP April, ‘19
13. A binomial distribution is % q
(a) never symmetrical (b) never pO_S'tlve:‘y ske\i\/: 5
(c) never negatively skewed (d) symmetrical when p ndvp .
i I f th i f a binomial distribution with parameters n a
14. The maximum value of the variance of a [MTP March ,19]
(a) np (b) n/a (c) np(1-p) Ll
15. Which one is uniparametric distribution?
(a) Binomial (b) Poisson (c) Normal
(d) Hyper geometric
16. The mean deviation about median of a standard normal variate is
(a) 0675 o (b) 0.675 (c) 0.80 (d) 0.80
A : g : -(x-10¢’
17.  What is the first quartile of X having the following probability density function? f(x) = . e 2 for
s - 127
-00<X o<
() 4 (b) 5 (c) 595 e
MTP March, ‘19
18, The total area of the normal curve is
(@) one. (b) 50 per cent. (c) 0.50. [MTP Oct. 20}
(d) any value between 0 and 1.
15. (The interval (u - 3¢, M +30) covers
a) 95% area of 3 normal distribution
' (b) 96%
(¢) 99% area of a normal distribution el distribution
20. If the mean deviation of Ay varia;bl e (d) all but 0.279 area of a normg| dist "b .
eis ; .
(3) 10.00 el ) V(vf;at Is its quartile deviation? ribution
: : ! ¢) 15.00
21 f(’)' Poisson fitting to an observed frequency distribution 9 12,05
a
e equate the Poisson Parameter to the me
(b) we equat an of the frequency dictri
Quate the Pojsson Parameter to th *Hibution
(c) we equate the Poisson Paramet © the median of the distribution
i €r to the mode of the distribution
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al Distribution for which mean = 15 and variance = 6.0 is

{a) 25C (3/55)" (2/5)%~

(b) ZSCX (2/5)" (3/5)5*
(c) zsCx (2/5)* (3/5)

(d) 25C (3/5)" (2/5)"

The SD of a binomial distribution with parameter n and p is

o n(1~ P) (b) np(1-p) (c) np (d) np(l—p).
If P(X=2) = P(X=3) for a Poisson Variate X, then E(x) is
i (b) 3 (c) 1 (d) none
The mean and mode of the normal distribution
(a) may be equal (b) may be different (c) are always equal (d) (a)or (b)
: MTP March ‘21
In normal distribution what is the ratio of QD:MD:SD
(a) 12:10:15 (b) 15:10:12 - {o) 105,12 (d) 10:12:15
Area covered normal curve by p+3c
(a) 68.28% (b) 95.96% (c) 99.73% (d) 99.23%
If x is binomial variate with parameter 15 and 1/3 what is the value of mode of the distribution.
fa) 5&6 (b} 55 (e} B (d) 6
In Poisson distribution which of the: following is same.
(a) Mean and variance. (b) Mean and SD 5
(c) Both (d) None of these

The Quartile Deviation of Normal Distribution with mean is 10 and variance is 16 is
What is the standard deviation of number recoveries among 48 patients when the probability of

recovering is 0.75 7 _
(a) 36 (b) 81 (c) 9 (d) 3

MTP-March’22

The mode of the pinomial distribution for which the mean is 4 varaince 3 is equal to ?

For Poisson Distribution : :
(a) Mean and standard Deviation are equal (b) Mean and Vraince are equal

ation and Variance are equal (d) Both (a) and (b) are equal

(c) Standard Devai |
e , then the distribution will be

if a varaiate x has, mean>varianc
(a) Binomial Distribution B Bl b ks
(c) Normal Distribution (d)  T-Distribution
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An example of a bi-parametric continuous probability distribution (d) Chi-square
n £

35. . : Normal
L b) Poisson (k. M o
(a) Binomial ( Lid deviation of X 15
36. For a poisson variate X, P(x=2) =3 P(x=4) , then the standard e @) 3
: c ]
@) 2 (b) 4 | (c) ' \/3
37.  What is the mean of X having the following density function :
v 1 (x»lO)zr
f()() = zlztﬁE* 'W““gi"'”‘ for -0 <X < o
b (d) none of these
(a) 10 (b) 4 (c) 40
MTP-Oct’21
o ’ ion?
38.  What is the first quartile of X having the following probability density function:
fix) - e-(x-m)z for <x<
X) = -
T it
(a) 4 by 5 (c) 595 (d) 6.75
39. If X follows normal distribution with L = 50 and & = 10, what is the value of
P(x<60/x>50)?
(a) 0.8413 (b) 0.6826 (c) 0.1587 (d) 0.7256
@ (1)=0.8413
40. For a normal distribution with mean as 500 and SD as 120, what is the value of k so that the interval [500
k] covers 40.32 per cent area of the normal curve? [Given @ (1.30) = 0.9032.] ;
(a) 740 (b) 750 (c) 656 (d) 800
41, If the mean deviation of a normal variable is 16, what is its quartile deviation? -
(a) 10.00. (b) 13.50. (c) 15.00. () Lo
42. For a Poisson variate X, P (X = 1) = P (X = 2). What is the mean of X? ’
(a) 1.00. (b) 1.50
0. ¢} 2.00
& 1@ (d) 2.50.
43. The variance of a binomial distribution with parameters n and p is
(@) np2(1-
(1-p) (b)  np(1-p) () ng(l-gq) R
MTP-Nov’21
4. Numb ;
Ef. of defects in clothes a garments showroom will form a
(a) Poisson distribution (b '
(c)  Binomial distribution £ il distribution
(d)  Cannot be determinegq
12
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~ probability distribution may b
(a) Discrete .

: (b)  Conti
In a certain Poisson f"equency di(::t':umls (¢) Infinite (d) (a) or (b)
ribu

‘, probability corresponding to three s

4 uc
f (@) 6
- ) (b) 12
. The normal curve is 4y

tion, the probability corresponding to two success is half the
cesses. The mean of the distribution is
(d) 2.45

(a) Positively skewed

(c) Symmetrical (b)  Negatively skewed

An example of a bi-parametric di (d)  All these
3 etric discrete Probability distribution i
(a) Binomial distribution ity gipteipihgr

. tiiribat
(c) Normal Distribution (b)  Poisson Distribution

For a normal distributi (d) Both (a) and (b)
3217 Istribution Q1 = 54.32 and Q3 = 78.86, then the median of the distribution is
F - 5 (c) 6659 (d) None

MTP-2 Nov’22

What is the mean of X having the following density function?

(x-10)%

f(x)=:\/?—e 2 for-oo<x<oo
Tt

3] 4 (b) 10 (c) 40 (d) None of these
if mean and variance are 5 and 3 respectively then relation between p and g is :

(a) p>a (b) p<q (c)p=q (d) p is symmetric
In a Poisson distribution if P(x=4) = P(x= 5) then the parameter of Poisson distribution is:

(a) 45 (b) 54 lera (d) 5

Area between -1.96 O +1.96 in a normal distribution 5 ‘

(a) 95.45% (b) 95% (c) 96% (d) 99%

MTP-1 Nov’'22

The probability of a man hitting the target is 1/4. If he fires 7 times, the probability of hitting the target

at least twice is :

» 6 B
. 6 15( 3 5 3
5\ 3 1-—| — y1-—,3% g o
o 133 w egf WAGEE S

L anufactured by a company are defective, use Poisson distribution to find

ic bulbs M : 5
&iﬁ,‘fbﬁu::,eagtc in a sample of 100 bulbs, 5 bulbs will be defective. [Given : e-5 = 0.007]
(b) 0.1723 (c) 0.1623 (d) 0.1923

(a) 0.1823 A dian :
Examine the validity of the following : Mean and standard deviation of a binomial distribution are 10

and 4 respective: (b) valid

(a) Not valid '
(d) Neithe
(c) Both [a] and [b] ! r [a] nor [b]
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o)
' ean of X
For a Poisson variate X, P(x=1) =P(x=2), what is the m (d)

57. ¢) 2 ‘
AP (b) 3/2 ( i e 37 and 49, the mode of the
istributi i d third quartile are BIV€
58. For a normal distribution, the first an
distribution is. i (d) 45
(a) 37 (b) 49 i
MTP-2 June'22 4
. '1:: O 36
. . (Given € ;
59.  If x be a poison variates with parameter 1; then find P(3<X<5). ( (d) None of T
' 0.012326
(a) 0.015326 (b) 0.15326 (c) bability that out of five students
60.  The probability that a student is not a swimmer is 1/5, then the pro
four are swimmers is:
4
4 4 4 il
4 1 5 1 i SC (3 (___J
o (0w el
(d) None of these
61. In a Binomial distribution n = 9 and P = 1/3. What is the value of Variance.
(a) 8 (b) 4 (c) 2 (d) 16
62. The variance of standard normal distribution is
(a) 1 (b) O (c) o2 (d) 0
- 63. In a Poisson Distribution P(x=0) =P(x=2). Find E(x)
(a) \2 (b) 2 (c) -1 (d) 0
64. Name of the distribution which has Mean= Variance
Bi : :
(a) Binomial (b) Poisson (c) Normal (d} (a)iand (b)
ANSWER KEYS
1 (b) 2 e
(c) 3 (c) 2 o)
5 (a) 6 (a) 7
9 ' 81 (d)
(d) 10 (a) 1
o 2 ()
b 4 ) 5 ()
|
i 18 (a) 5 |
d)
21 (a) 20 (a) 20 (b) ‘
25 ( % ‘% 24
&) 26 (b) |
o 30 e i < e <‘
1
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